A wheatstone Bridge with R1 = R2 = R3 = 100 Q. The sensor (R4 = Rs) has a nominal
resistance of 100 Q. Vs = 15 V.

) 6) Draw a schematic figure of the above measurement system.
2 IfRs=105 Q, what is voltage offset (AV)?

3 %) IfAV =0.05V, what is the value of R4?
44) IfAV =0.06 V, what is the value of R4?

3 JO)What is the resolution of the bridge if AV jumps from 0.05 V to 0.06V? (i.c.,
the detector resolution is 0.0] V and use the above two points)?
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A wheatstone Bridge with R1 = R2 = R3 = 100 €. The sensor (R4 = Rs) has a nominal

resistance of 100 Q. Vs =10 V.

1) Draw a schematic figure of the above measurement system.
2) IfRs =105 Q, what is voltage offset (AV)?
3) IfAV =0.05 V, what is the value of R4?

4) If AV =0.06 V, what is the value of R4? .-
5) What is the resolution of the bridge if AV jumps from 0.95 V to 0.06V? (1.e.,
the detector resolution is 0.01 V and use the above two points)?
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